31 01 24

G

2,247

2,247

H31

H35

189km

km

235km




H31 |Ro2 [R03 [RO4 [ROS

A16-001 n n n n n 2,062
A16-002 [ B BN B B 185
N 2,247

2,247|




H31 RO2 RO3 RO4
(€)) 145 103 144 179
(b) 0 0 0 0
(c=atb) 145 103 144 179
(d) 0 0 0 0
(e) 145 103 144 161
) 0 0 0 14
0 0 0 0
(h = c+d-e-f) 0 0 0 4
(1 = (gth)/(ctd)) 0 0 0 2.23

10




(BEXH) b\ ERERSRETESE

R D4 PR TR T8 8 U VI R B il 11

it ] D 5] ] ISR~  FRBGEEE  (5[H)

e

BRI T

A16-001 BkdH\ VERKIEESEEREE FRSR)
A16-002 BRdH\ VERIEEESEEREE FRER)

e
v
tresEE ®
wEE @
ﬁﬂi&ﬁ TET e @

EEH

ER

B

ﬂlr'

AERE

WETF R




